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Slide #13 solution)
i) La and DOa

௔ܮ ൌ
ଶ଼.଴	௠௚/௅ൈଵ.଴ହ	௠య/௦ାଷ.଺	௠௚/௅ൈ଻.଴଼	௠య/௦

ଵ.଴ହା଻.଴଼ 	௠య/௦
ൌ ૟. ૡ	ࡸ/ࢍ࢓

ܦ ௔ܱ ൌ
ଵ.଼	௠௚/௅ൈଵ.଴ହ	௠య/௦ା଻.଺	௠௚/௅ൈ଻.଴଼	௠య/௦

ଵ.଴ହା଻.଴଼ 	௠య/௦
ൌ ૟. ࡸ/ࢍ࢓	ૢ

ii) DO 16 km downstream
Initial deficit, Da = DOs – DOa = 8.5 mg/L – 6.9 mg/L = 1.6 mg/L 

ݐ ൌ ଵ଺଴଴଴	௠
଴.ଷ଻	௠/௦ൈ଼଺ସ଴଴	௦/ௗ௔௬

ൌ ݏݕܽ݀	0.50

௧ܦ ൌ
௞೏௅ೌ
௞ೝି௞೏

݁ି௞೏௧ െ ݁ି௞ೝ௧ ൅ ௔ܦ ݁ି௞ೝ௧

ൌ ଴.଺ଵ	ௗ௔௬షభൈ଺.଼	௠௚/௅
଴.଻଺ି଴.଺ଵ 	ௗ௔௬షభ

݁ି଴.଺ଵ	ௗ௔௬షభൈ଴.ହ଴	ௗ௔௬௦ െ ݁ି଴.଻଺	ௗ௔௬షభൈ଴.ହ଴	ௗ௔௬௦

൅1.6	݉݃/ܮ ൈ ݁ି଴.଻଺	ௗ௔௬షభൈ଴.ହ଴	ௗ௔௬௦
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ൌ ܮ/݃݉	2.6

DOt = DOs – Dt = 8.5 mg/L – 2.6 mg/L = 5.9 mg/L

iii) tc, Lc & DOc

௖ݐ ൌ
ଵ

௞ೝି௞೏
݈݊ ௞ೝ

௞೏
1 െ ௔ܦ

௞ೝି௞೏
௞೏௅ೌ

ൌ ଵ
଴.଻଺ି଴.଺ଵ 	ௗ௔௬షభ

݈݊ ଴.଻଺	ௗ௔௬షభ

଴.଺ଵ	ௗ௔௬షభ
1 െ ܮ/݃݉	1.6 ଴.଻଺ି଴.଺ଵ 	ௗ௔௬షభ

଴.଺ଵ	ௗ௔௬షభൈ଺.଼	௠௚/௅

ൌ ૚. ૙ૠ	࢙࢟ࢇࢊ
௖ܮ ൌ 	ݏݕܽ݀	1.07 ൈ 	ݏ/݉	0.37 ൈ ݕܽ݀/ݏ	86400 ൌ 34200	݉ ൌ ૜૝. ૛	࢓࢑

௖ܦ ൌ
௞೏௅ೌ
௞ೝି௞೏

݁ି௞೏௧೎ െ ݁ି௞ೝ௧೎ ൅ ௔ܦ ݁ି௞ೝ௧೎

ൌ ଴.଺ଵ	ௗ௔௬షభൈ଺.଼	௠௚/௅
଴.଻଺ି଴.଺ଵ 	ௗ௔௬షభ

݁ି଴.଺ଵ	ௗ௔௬షభൈଵ.଴଻	ௗ௔௬௦ െ ݁ି଴.଻଺	ௗ௔௬షభൈଵ.଴଻.ௗ௔௬௦

൅1.6	݉݃/ܮ ൈ ݁ି଴.଻଺	ௗ௔௬షభൈଵ.଴଻	ௗ௔௬௦
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ൌ ܮ/݃݉	2.8
DOc = DOs – Dc = 8.5 mg/L – 2.8 mg/L = 5.7 mg/L
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ܴ ൌ 1 ൅ ఘ್
ఎ

௢௖ܭ · ௢݂௖ ൌ 1 ൅
ଵ.ହ ೒

೎೘య

଴.ସ
· 27.0	ܿ݉ଷ/݃ · 0.02 ൌ 3.03

௖௢௡௧′ݒ ൌ
௩ᇱೢೌ೟೐ೝ

ோ
ൌ ସ.଻ൈଵ଴షల௠/௦

ଷ.଴ଷ
ൌ 1.55 ൈ 10ି଺	݉/ݏ

ݐ ൌ
10	݉

1.55 ൈ 10ି଺	݉/ݏ ൈ ݀/ݏ	86400 ൌ ݏݕܽ݀	75


